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And two verses that come as one cannot teach

Overview

The rule is that one may derive benefit from the monies received from a sale of
IRIT MR, except when selling 1"¥ or vy 2w M0, where we derive from o109 that
they are 1”27 091n; the monies received from their sales are also MoX. We cannot
derive this rule of 1"m7 090 by other AX17 MO°X from n°vawn 1"y for they are
considered 272971 PRI TIXRD 2°R37 222100 °nw.! Our Mo0IN questions and explains why
this rule is appropriate in this case.

n1voIN asks:
= ©9%1999 NTIAYN NPV NN XY XN 7NN OINAN 021N /2 91 29290 NdN

It is astounding! How are 1"V and n°¥"2w considered to be 7rX> 29827 252100 '3,

for we cannot derive n>yaw from 'Y regarding v»7 noan -
= 3NN NYIDN 19V 01919 HTAYY NN 27999195 NIINT

For we can challenge the comparison, saying, why it is that the law of 117 0910 is

by "'y, since 1"V is INT2 71IOKR, however n°y 2w which is not that strict since it is 78372 N7,
perhaps the law of 117 0910 does not apply to it.

nBoIN answers:
- 41139 ©222)5 NTAY YN NPV 21N DIPN Y1) Y YN

And one can say that nevertheless it is considered 121 2°2103 '3, for the 7710 should
have written the rule of 17 0910 by noweaw (which is not X172 MOX), and we would

derive 1"y (which is X372 T10K) from Nyaw -
= N7 D922 TANI PPNAN 021N 72 929V 9P NI NN

And even in such a manner (where there is only one case [1"v] which can be derived

! The logic behind this ruling is that if it was the intent of the 7710 to derive other cases from the o°213 "w, why did
the 770 write two 0°21n3; it could have written one 109 and we would derive everything (all other 2*mo°k including
the other one that was written) from this one ?105. Obviously the 7710 is teaching us that this law (of 1°»7 091n) applies
only to these two clearly stated cases, but not elsewhere. It follows therefore if for any reason we could not derive
either one of the 0°21n3 "1 cases from the other, the ruling of 121 2°210> '2 does not apply, for it was necessary to write
it by both cases, since otherwise we could not have derived one from the other.

2 If the 70 would write the law of 7 0910 only by 1"y we would not be able to derive that the same law applies by ny»aw.
3 See footnote # 1. Since the 7N cannot write only the law by "y because we will not be able to derive this law by
ny 2w from ™Y, so it is no longer 71X 2°X271 0°21n2 2. See ‘Thinking it over’

4 If by noy»aw, which is more lenient than 1"¥ (for it is not X372 MOX), nevertheless it is A7 090, so "y, which is
stricter than N*¥*2w (since it is 7RI72 MOK), certainly it is 17 091N, So there is (seemingly) no need to write the rule of
17 0910 by 1"'v. The reason the 770 writes it is to implement the rule of 71X> 2°&27 2°21N2 2.
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from the other [n°y°aw]), it is rightfully considered in many places as 2°31n> 'a

TIIND DON2T -
= TM5Y 9129 1NN 93 ROV 13°¥2 XD

And we have no requirement that each one should be able to be derived from the
other (if only one can be derived that is sufficient to consider it 131 2°21n> '2).

n1voIN asks:
= Y AVN 0210310 NTIAYT NIT 11T MD N £2999 HTIAY 29N9 XY IN ININ VIND ON)

And if you will say; there is still a difficulty for if the rule of 127 0910 would not

be written by "'y, we would not know the rule of 127 0910 by "'y from Py aw -
= 5P9INY DINYY DIIYNRINI VAN PINK PINK NHYIAYT DNY DN I9IY

For the rules of 127 0910 are not the same by n°y°2w and 1"y, for by n>y 2w the last
one exchanged is continuously grabbed by its n°¥°aw status, and the prior ones

(which were initially n°v>aw nw17p2 09n1) are released to become 1971 -
= 590X 199590 399N 19959N IINT INND RIIN (3,7 9714t Amay) D22910 NP

However by 1'"'v there is one who maintains that the exchange of 1"y and even

the exchange of the exchange are forbidden -
- 8DaM) PINNNY MW M1 KY SNIN 70595 1POOIN 3959N MINT INIY 1999N)

And even according to the one who maintains that the exchange of the exchange
is permitted, nevertheless it is still not like n>y>2w2 where the last exchanged item

is Ny 2w nwhTpa eeni. Therefore 1"v1 Ny 2w cannot be considered 121 2°2102 '2; since
their respective rules are different it was necessary for the 71710 to write these rules in both cases.

N1DD0IN answers:
= NHON NYITT 139 ¥9UNT IXID 09N 29 (1 00937 29N971) 99 v

3 There are certain restrictions regarding N> which grew on n°yaw, which are v aw nw17p2 0on1. The same applies
to other m7°d which were exchanged for n°yaw m79, in the following manner. If for example there were n*y"2w grapes
and the owner exchanged them for non-n>y°2w apples, the rule is that the apples and the grapes are both nw17p2 0501
nyoaw. If the apples were then exchanged for fish, the fish and the grapes are n*y*2w nw17pa oon1 and the apples are
722 R¥. This process continues, the original n°y*aw N’ and the last item to be exchanged are n°y°aw nwITR2 09N
and all the items that were exchanged in the interim are 1217 PRYY.

® The original 1"y is X372 MOX, and the same rule applies for the apples that it was exchanged for, and also the fish
which were exchanged for the apples; all three are "'y 710°X2 05131, as opposed to n°v*aw where only the first and last
are Ny aw NWITPA 0903, not the exchanged items in between. This 7"n derives this ruling from the P05 (see footnote #
11) of 13 o7n p»m, which teaches us MMM R 7 1320 7270 ANRY 71 9,

7 This means that in the case mentioned above (footnote # 6) The apples are 710X but the fish is 9nm. He derives it
from the word 3¥mn> o1 n>>m (see footnote # 11), which is interpreted to mean 1°2°%1 %0°51 X7 7292 R

8 In the case mentioned by ny>aw, the fish (which is the 11IX) is 0501 and the apples are 721, however by 1"y, the
apples are 710K and the fish is 70 (according to this 7"n).

9 Others amend this to read 173 01 0> (see [also] X"wAmn).
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And one can say,!’ since it is written!! regarding 1"y that (X7 237 %2) [ 237 n»m

73], this indicates that this 2109 is coming for a w97 -
= 124N DINAN DN 72 NN NXYAYI D310 NTIAYT MY

To say that 1"y and n°p 2w are 7HN> 2827 2°2100 'a —

nvoIN clarifies:
= 3959, 199590 299907 1IMNYNRY N9 THIVNINT 919919 XYY

For we cannot say that these words of 173 071 n™M are necessary for its own

sake to teach us that 1251 329 of 1"V are 2"™nm -
HNN OYO NIN 13 N8I NWIY 1INY YNIUNT 1491999 (ovw) 22NN 12YT NNT

For this we already know since it is written 'y712' (like him), which indicates

that it can only make something forbidden similar to itself, only one time, but no
more (no 1971 °9°9n), therefore we can assume that 775 0717 M teaches again that 1"y is 0910
117 in order to make TMXD 0°X27 2°2105 "2 Ny Y.

Summary
It may be considered 121 2°2103 "2 even if only one cannot be derived from the other.

It is also considered 0°21n> 2 even if the details cannot be derived as long as the main
rule can be derived from the other case.

Thinking it over
It appears from mooIn that N°>2w N7 are R332 0.1 Previously!® it seemed from
Mo that N°¥aw N17° are 7R3 MOXR.!7 How can we reconcile the two mooin?!®

10°See X"w1mn (on the >vW» "7 X3) that this answer is only according to the 7"» that 2> mn 1°9°91 51, but not
according to the 7"n that 20K 1991 9791,

1195 p109 2py. The P00 reads; X7 077 *3 YDA 2YN) WIPYA TRY 313 070 D7) 70°2 2% 72yin x02n &Y.

12’510 question was that they are not 2°210> '2 since this rule needs to be stated by 1"v to tell us the difference there is
by 1"v that 1°5°51 *o°911 are 00w (which we derive from 17115 [see footnote # 7]); however why was it necessary for
the 770 to write 'n>»m' (which teaches the main rule that 1"V is 117 091n); that rule we could derive from nvaw. We
must therefore say that the reason the 770 writes 1> 271 0»mM (even though we can derive the [main] rule that 1"V is
17 0910 from Ny 2w, nevertheless the 77N repeats this main rule by 1Y) is to teach us that n°y»aw1 1"y are o°21N2 2
'RD DKL

13 Seemingly we need the words of ¥172 2711 n>M to teach the limitation that 19°21 91 are 2™ N.

14 The 7 could have written %113 na M (or something similar) without writing N>, we would know Y7 0910
from ny*aw and we would know 2°n11 1°9°21 *9°91 from ¥%3; why write n»m. It must be in order to make now>awy 1"y
'Y @°K271 22210 .

15 See (text by) footnote # 3.

16 See wpn 7"7 2,71 '0n [TIE footnote # 12].

17 See X"wAn and w"wA on that Moo,

18 See mwn nom.
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